CW: 71.7- Substitution- Pay 2 Nawe:

4 steps to solving a linear systewm using SUBSTITUTION:

STEP 1: | Solve one of the _¢quations for ope of its Vvariables

STEP Z:| Substitute the _eXpression _from Step 1 into the other
equation __ and solve for the other ____variable.

STEP 3: | Substitute the value from Step 2 into one of the orl?mal
equations _ and solve for the remaining __variab

STEP 4:| _Check your ___Solutions i each of the original
equations.

1. Sydney has 440 and is s m Jaeshawn has
$160 and is spending &5 per day.

Let x represent the # of days and y represent the amount of money.

a. WRITE and SOLVE a linear system to determine after how many
days Sydney and Jaeshawn will have the same amount of money.
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b. Using words, explam your solution in the context of the sitvation.
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